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December-2013
B.Com. (CBCS) SEM. III
[Core Elective — 201] Ad. A/c. & Auditing
(Cost Accountancy — I)
(New Course)

Time : 3 Hours]
. (A) 4sdaril [Euell vl s1uel eual.
| Discuss the advantages of Cost Accounting.
AUW/OR |
wide stalqaur aolsel axemal.
Explain “Functional Classification o
0 4

d v
ariable expenses.

z B
e

(B) 54 a@vil. (1 d
Write short notes o

(1) Adl YR
Operating

(2) u3d

Co

3)

ot 12 wsdrl 58 wglt >u-al d siRel wsd wedl. e d o) 3

iving reasons, which method of costing would you employ for the
(any two) :

ale-l la
Flour Mills
(2) YA~ o™
Passenger-transport service
(3) sled Gala
Hotel Industry
(4) 8L Galdl
Chemical industry
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2. (A) (1) WRA X 2usexdl ARe-2013 Al 245 213 Aasd DA 2l0dl o)

Wl Birs1d - M-161 darR U 7
2013 (3.1
Ala -1 w3+l 225 15000
3 el yat d.-11 L as 7800
"5 MRl yA A-12 Al as 1200
* 8 duiFl wlell Adn H.-31 ol s 18000
" 10 Rl H.-13 L nas 6000
" 15 3elua .-14 -l nas 3000
v 25 duiRl WYl a4 H.-40 Al w98 6000
" 30 Relua A.-15 Hl nas 2700
2ls AsIAARAL dl. 15 A dw 2B 30082 g2 weus . v
| (3.0,
HedH Halel ' 30000
dagny Hylel 4800
arel awdl 14400

From the following information regarding receipts and issues of ‘X’ item of
Store in April-2013, prepare Bin Card No. M-161.

2013 Kg.
April=1 Opening Stock 15000
* 3 Issued on requisition No.-11 7800
“ 5 ., Issued on requisition No.-12 1200
8

" Received from a supplier by 18000
Chalan No.-31 v_

" 10 Issued on requisition No.-13 6000
" 15 Issued on requisition No.-14 3000

" 25 Received from a supplier by 6000
Chalan No.-40

" 30 Issued on requisition No.-15 2700
Examination by the stock verifier on 15", Morning revealed a shortage of

300 kg.
; Kg.
Maximum limit was . . 30000
Minimum limit was 4800
Ordering level was 14400

DH-115 2



(A) (1)

DH-115

2) DA ulsdl weell s e W2 Rel Awdl, aguy Awel, e %22
2 A9 225 Audl-l aedl s

~ O ARRAYU AURLA — &R sl
A ACUCIE I TR T LTI RO
~ oM duRAA — e sl
— s ael weal

— dzel Hgd

— 14000
- 7000
- 21000
— 84000
- 4106

3

units
units
units
units
week

From the following information calculate, Ordering level, Minimum level,
Maximum level and Average stock level for raw matefial.

— Average usage per week — 14000 units

—  Minimum usage per week — 7000 units

—  Maximum usage per week — 210004 units

— Economic order quantity  — 84000 units

— Delivery time — 4to 6 week

AUYA/OR
als sRvitA 2l 2013 sBuA M 281 Buas A Aas-l Alsdl 1A
Worol €9, 7
i e 5 (ud

adlu EET ! & .

01-3-13 | a3+l cusl 1000 20,000

05-3-13 4 m3lel 7000 1,26,000

08-3-13 | MZlcl 4000 88,000

13-3-13 |yl Wided HldAIHIA 4800 -

15-343 | wi3lel 800 20,000

1993-13 [yRhuldd HdAHLd 4000 -

20-3-13. | vizlel 4000 60,800

25-3-13 | 42l wdd HieRuHIA 6000

al. 13-3-13 2 18-3-13 L A%l 2nas-l

B 58l s2aL M s

@S (FIFO) 21 “dlsl” (LIFO) ualdt 2wt . 2R dl. 20-3-13 -l
ool Aasdl Hedist W “oudld A7 Ugladl Gualdl sald sl
SRUML 20 6. HAUBLAHAL 225 uAs R S2U.

The following is a summary of receipts and issues of Material “M” 1n a

factory during March — 2013.

Date Pm"ticulars Qu]a(ntity L0kal imonnt
g.
01-3-13 | Opening Balance 1000 20,000
05-3-13 | Purchased 7000 1,26,000
08-3-13 | Purchased 4000 88,000
13-3-13 | Issued 4800 -
15-3-13 | Purchased 800 20,000
19-3-13 | Issued 4000 -
20-3-13 | Purchased 4000 60,800
25-3-13 | Issued 6000 -

P.T.0.



The Material issued on 13-3-13 and 18-3-13 were priced on “FIFO” and

“LIFO” basis respectively. It was decided to price the issues by “Weighted
Average Method” from 20-3-13.
Prepare Stock Register for material.

2) 0 20l lsdl wel 2ulls a2€] el sl 3

Alls qu19 - 27000 L5Hl
AsHElS (Bud - T 9720
2182 ysa-l vl = Ri=85.00
il AAS w3l 3 10%
From the following information Calculate Economic Order Quantity (EOQ)
Annual consumption — 27000 units
Cost per unit - T 9720
Cost of placing anorder — ¥ 45.00
Cost of Storing unit ~ 10%

(B) 254 avil. (i d 6s) ; 4

Write short note on (any one) :
(1)  HdA™MIAd A-B-C 92([s30
A-B-C Analysis of material

(2) Gewer He Wd 2l Bug HaRel “culRd 13 wel”

“Weighted Average Method™ of the«pricing to the issue of material for
production. -

YW OR

Hd-l Add ARd] 2led 4 2.d-l @ledl aseual.
What is perpetual inventory ? State its advantages.

3. (A) ¥ srvudl H{RE M-Sl A A% A8l SMERL 9. s Ao QAR sl wHLel
UMY 25 SAlS A @l selsl ddt e T 40 ©. {1 d S1M YD sl 15
sals d . Ul disin 42 sl 20 sals d © U AA 25 saLs Al ©. 8

NAAL ualet 3ol 2254 9 dat w9l 2

@ slddn wa

(i), el da ua

(i) RAd4 dd yal

Mira, Pinky and Raju are three Labourers in a factory, Standard Time allowed for a

job is 25 hours. Wage rate per hour is ¥ 40.To finish the job Mira takes 15 hours,
Pinky takes 20 hours and Raju takes 25 hours.

What wages will have to be paid to each one as per the following methods ?
(1) Piece Wage System
(1) Halsey Wage System
(1) Rowan Wage System
ARYWOR
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43 2ula wledl uell 1R 3reedl el aeidRl 5.
) 92l 4dd serl usld
(i) Yt L weld | ’
(i) AYsd vsld | '
il 93 anl sterR-l Ava 2000 1
ai-L 2id sHelR-l Aval 1
A2y, il (g2l 2dal SPHERl
(92l S3Al SIHERL ‘0 -
5

10
qal Al SHeRl 0
@ U4 50 steRl [AdReL Alg-il W2 Al 2uel
From the following details, calculate Labo e under :

v

(i) Separation Method

(ii) Replacement Method and

(iii) FLUX Method
No. of employees at the b ing O ear 2000
No. of employees at y 1500
No. of emplo 150
No. of employe h 100
No. of emp S 250
(of whic en under expansion plan)

B) ¢ . d 18) : 6
note on (any one) :
2l o dd-t e+l usld

Taylor’s Differential piece wage system.
2) usoileRl wx-

Co-partnership system.
RYWOR

woz 3retedl €2 ded g ? R Reedll s1R81 54 © ?

What is Labmir Turnover Rﬁfe ? What are the causes of Labour Turnover ?
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4. [ {12 dudlng g Gylent [Qeudt A, B 4 C qat o Ay [aeuaL “xX pq <y

9. %3 2013 eabBraiq vl ol {3, wiLel ¢, | 1
[@21q 3 '
Mg 2 431 38,000
dlarefl o] 25,000
52l w3 45,000
SIEN ' 15,000
WRis 4o 30,000
SIHER AP (ML YluHi s10) 12,500
HALR1 90,000
YR 1,12,500
A H] v
EET
UE 3y7 ()
Al Bud (3) 6,00,000
{loefll Y2 |
AL ¢l wig?
A ooy (l.52)
SIMe1R] vy 20 10
Al [161101l “X” 24 “y” ) ¢ A {13 Hororqy wsemi elal 9.
Qo B C. X ¢ ijol oy
[ae9 — X 0% 30% 30% . 20%
(o9 — Y o 30% 30% 10% -
(1) wia ML 923 51998l 2 U

MRl Gawed [Rewdll a2 siaqe() edlad WwAs dur sl
el ygla)

<

38,000

ng 25,000
Canteen expenses 45,000
Insurance 15,000
Indirect Wages 30,000
Contribution to ESI 12,500
Depreciation 90,000
Power 1,12,500
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Other Information :

Particulars A B C X X
Direct Wages (%) 45,000 | 37,500 | 30,000 | 22,500 15,000
Cost of Machine (%) 6,00,000 | 4,00,000 | 3,00,000 | 1,00,000 | 1,00,000
Lighting point 60 40 40 30 30
Horse Power of Machine 60 60 30 - b
Space occupied (Sq. feet) 600 400 500 200 200
Number of workers 50 60 40| ‘20| 10

The benefit of service department “X” and “Y” is derived by the other department in the

following proportion. 1,

Particulars A B |8 (E_ X Y
Department X 20% | 30% 30% - 20%
Department Y 30% | 0% |“30% | 10% g

Prepare as statement showing
(1) Distribution of overheads to vatious department and

(2) Distribution of expensess of service department to production departments
(Repeated Distribution Method)

{%4/OR
(A) 25 SRV @AM o8 514 25 Uil W™ 4L glRL sai 20d 8. 21
siRvit-AL WS vl {12 3o o 10
) EET 4

(1) Gug_;tvl 431 — alils 15,000

15 quzidle waz yfz s 10 L dvl - alls 12,000
(B) 4ol ARSI A [Houawd — alils 2,400
@ sRvudAl Qloll — claetdl - alls 2,000
() oAl 2uv AR oL HYRIAL WauR e sl s T 1,500 dvl -
(6) YuADHAL wouR Hlus 3,000
(7) wryRel Maudl v alils 250
(8) &35 Al Alls aaRl 3,120
9) Al o1l wRlElL el — alls (% 750 2 Aled) 3,000
(10) &35 dat-l sals €ls waz-l auial 10 32 .

Gl lfedl wdl 4ilAs sals e wldl.

sH-115
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Production is carried out by five identical machines in a factory. The anmial
expenses of the factory are as under :

Particulars 4 |
(1) Rent and rates — yearly 15,000
(2) Annual consumption of power at the rate of 10 paise per unit 12,000
(3) Repairs and maintenance of machines — annual 2,400
(4) Lighting for the factory — yearly 2,000

(5) Salary of two workers looking after the machines — at the rate
of T 1,500 p.m. for each worker

(6) Supervisor’s Salary (monthly) 3,000
(7)  Sundry Material (yearly) 250
(8) Depreciation of each machine (yearly) 3,120
(9) Hire purchase instalment of machines — yearly (including

interest ¥ 750) 3,000

(10) Consumption of power is 10 units per hour for each machine. —~

Fromthe above information, calculate the maéhine hour rate.

(B) 2000 254l Gwtert{l ugdr 2y . 4
B
HLAAIHLA - 15,000
Lt - 105000
RiR14A wal (Rez 24 aRlw)  ~ 5000

4l 5000 A5l Geure S Asugls 7 20 dAul 4l T 27,250 -l -5l 53
9. dl Rar 2 R BRIl skl

The cost of produeing 2000 units of a commodity consist of

4
Materials - 15,000
Wages — 10,000
Overhead charges - 5000

(Fixed and Variable)
| The company produces and sells 5000 units at 2 20 per unit and makes a
profit of ¥ 27,250. Find out the amount of fixed and variable overheads

respectively.

5.l 2udar fased 14 il Risey e 530 : (e35el 1 A8l £9) 14
(331 2dIV/sRel calal.)
Choose the right answer from the multiple options (1 mark each)
(with calculation/ reason).

(1) TR U8 s34l Wl deig widz sweuy 2

(A) Aladl 215 R (B) uRU& AP

(C) AXH- s:{lan (D) olsdie e

Which one of the following expense is a “Product Cost” ?

(A) Administrative Staff Salary - (B) -Indirect Materials

(C) Salesman’s Commission (D) Interest on Bank Loan

DH-115 8



2) e otadl Sudl wsaz-l 58 ughiddl Gualol 53 © 2
(A) ol” Yid? B) [y yidr

(C) sl-2l52 W3dR (D) ool YidR
Which Cost Accounting Method is used in Pharma Medicine Industry ?

(A) Batch Costing (B) Multiple Costing
(C) Contract Costing (D) Job Costing
(3)  ~llA-L U5 sUl MAUHA YRIE HQABUA © 9

(A) 51U GlrladHl YR (B) s[HuR ot-ulaaui

(C) 42 AALAUHL AU e (D) Mg eAlqau™ dl w24l
Which of the following materials is called indirect m
(A) Yarn used in Weaving Industry

(B) Wood used in making Wooden Furni
(C) Oil used in running Machinery
(D) Sugarcane used in making Sugar.

@

w

(4) w3l wls T 25,000, wi€l 2 0 el 2215 T 12,500 . AWM
sroedl €2 sedl ¢dl ?

(A) 3 2wl &
(C) 1 2wl

Opening Stock ¥
Stock Turnover

) 5wl
(D) 3.5 el
ases ¥ 81,250, Closing Stock ¥ 12,500. Calculate

(A) 3 times (B) 5 times
(C) 1t (D) 3.5 times
(5) Al « 5 ely dat el Wl weal 2ed -
Y 22 (B) dydH w2l
q¢l el (D) ¥R w2l
able Quantity to purchase is called
(A) imum Quantity (B) Minimum Quantity

(C) Economical Ordering Quantity (D) Average Quantity

56 uglani v sl Bad g oo euaddl Bad 125 slu 6.

(A) [3sl ugla (B) lRd a3 ugld

(C©) [asl ugla (D) [MHBd euq ugla

In which method stock is valued at a price which is almost nearer to current market
price ?

(A) FIFO (B) Weighted Average

(C) LIFO (D) Fixed Price Method
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(7)

(8)

)

(10)

100 syl eulRd A3 T 280 9 dHiYl 40 su-l 54 uidR T 10,000 © di
oL SlAL 2sHAl M54l usdR sedl eol ?

(A) X300 (B) 250

(C) %280 (D) T 480

Weighted Average of 100 units is ¥ 280. Out of it total cost of 40 units is I 10,000.
What would be per unit cost of remaining units ?

(A) 300 (B) T 250

(C) T280 (D) T 480

pls sl WL AHA 20 sdls ©. SIEPIRA sdlsL T 15 WHRladd 2WA ©.
s M2 vRVR dldd AHA 16 sals ©. dl s dd wAL wHel Hag da s2q ?
(A) %320 (B) %300
(C) 80 - (D) %160
Standard time fixed for a job is 20 hours. A worker is paid.at T 15 per hour. The

actual time taken to complete the job is 16 hours. Calculate the total wages
according to time wage system ?

(A) 320 (B) %300
(C) %80 (D)% 160

A U4 56 dat wdl ABdAd Ulies dat wal 4l ?

(A) [Brslsa dlos-u (B)2az- (642 da-texl Ul

©) HRs [Alay daer dlal (D) AseR(lelR]

Out of the following which wage system is not treated as an Individual incentive
wage system ?

(A) Bedeaux plan

(B) Taylor’s different piece rate plan

(C) Merrick’s multiple wage rate system

(D) Co-partnership |

2lde WA otladl Gellorni Adt Eewdl a3 1 U5 sl ada i o ?
(A)a 5168l [Qeudt (B) suzea (et

(©) il [aeua (D) 22d [asi2l

Out of the following which is included as service department for manufacturing of
oil engine industry ?

(A) Foundry department (B) Casting department

(C) Moulding department (D) Stores department

(1) 215 Aol Bud T 83,000 9, d-l oiouz Bud T 6,000, d21 olisadil wd T 3,000

DH-115

2 df Guulall 2uy™ 8 ay 9. dl suRl edl 2

(A) % 8,000 (B) % 7,700

(C) T 7,400 (D) % 9,200

If a Machine Cost T 83,000, its scrap value is ¥ 6,000, Installation charges i1s
¥ 3,000 and its useful life is 8 years then what will be the depreciation ?

(A) % 8,000 (B) % 7,700

(C) 7,400 (D) 9,200
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(12) a5 sRMUML QB sa1s v wle wal-l Rowdl 02 wuel 9.

4 SALSL 7000 | 8000 | 4000 6000
uda wal 2 72,500 | 80,000 | 50,000 | 65,000
dl Gu-l Bar yle walHl 254
(A) T 20,000 (B) ¥ 30,000
(C) T 35,000 (D) 17,500
The following information is given for a factory of the o
machine hours.

Machine Hours 7000 { 8000 | 4000
Overheads costs ¥ | 72,500 | 80,000 | 50,000
The fixed cost element included in the above da
(A) 20,000
(C) 35,000

(13) 3aud AHls2el ugld
(A) sIRviALL Y218 vl s
(B) Al [ewar-u wal Gy

9.
siqaldl wgla .
4l ugla .

L g3l wgla .

ice department expenses over production departments.
administrative expenses to production.

recovery rate for overheads.

(1 [ Al vl ol el [@ewdl a2l 58 Ad siaani 2ud © 2
s 1A 2013 (B) W& S1MElR 5Als e R
HelRlHL Avaid 2013 (D) syl &l

ution to Employees State Insurance Scheme will be apportioned according
Direct Labour (B) Direct Labour hour rate

(C) Number of worker (D) None of the above
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